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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(1)

(1)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)
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This question paper contains 380 questions. All questions are

compulsory.

Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

Section B — question number 13 to 18 are Short Answer type questions.
Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - question number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question

in 100 to 120 words.

Section D — question number 24 to 26 are passage, cartoon and Map-

based questions. Answer each question accordingly.

Section E - question number 27 to 30 are Long Answer type-II
questions. Each question carries 6 marks. Write answer to each question
in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such
questions has to be attempted.

In addition to this, NOTE that a separate question has been prouvided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map ete. Such questions are to be attempted by Visually Impaired
Candidates only.
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|UE-®
U9 GEAT 1 W 12 ek Sgfrshedid TR o 1 3(eh & T § | 12x1=12

1. 9Rd & fore Tsg A SR ardl o1 aRa | gl IR ArhditEe el o JeIT o Tl

THEE ¢ 1
(A) ufvem s B) A
(C) Brgu (D) =g

2. frfefad we & < wem fou e F 5 & v 1 iR (A) o gEL T SR (R)
S 3Afehd foha 741 B | 39 AT &1 SH ¥ ufeu 3R = few mu faswedt (A), (B), (C)
3R (D) H ¥ 3T &9 4 gl forehen g : 1
afirRem (A) : vid, = 3R 311 forhrarsiier Seii st FITel TIeehict <l Seadisti & e
Qg el |

HROT (R) : 3TRIeRToT o SR 3 <11 | TS 191 1 IcdsH 0 @TH T8 9T |

%F:Fc"l:

A) 3fpYT (A) 3R HROT (R) SFT 9&1 8 3T &R0T (R) 3Afrehem (A) & g&l samen
2l

B) IATHUA (A) 3R FHRU (R) AT & & 3T wRT (R) 31fiyeped (A) 1 &l e
TR

(C) AR (A) Tl B ST HROT (R) Td 2 |

(D) 3fiere (A) ToTd 2 TR HR (R) Tl 2 |

3. get-1 1 ge-11 & Tl firerm hifsre 1
g1 R-I1
a.  AeEhich EfY i 1997
b, HIHS TR i 1991
c. ~ FHCH RO TR i 1987
d. R YR iv. 1959
fererea :
a b c d
A) iv i i i
B) i i i v
© i iv i i
O i i iv i
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SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying
1 mark each. 12x1=12

1. For the first time the communist party came to power through democratic

elections in which state of India ? 1
(A) W. Bengal (B) Kerala
(C) Tripura (D) Manipur

2. In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the appropriate option as the answer. 1
Assertion (A) : India, China and other developing countries were

exempted from the requirements of Kyoto Protocol.
Reason (R) : Their contribution to the emission of green house gases
during the industrialisation period was not significant.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(B) Both (A) and (R) are correct and (R) is not the correct explanation of
A).
(C) (A)1is correct and (R) is incorrect.
(D) (A)is incorrect and (R) is correct.

3. Match the List-I correctly with List-II : 1
List-I List-II
a. Antarctic Treaty 1. 1997
b. Montreal Protocol il. 1991
c. Antarctic Environmental Protocol  1ii. 1987
d. Kyoto Protocol 1v. 1959
Options :
a b ¢ d
(A iv 11 il i
B i oo iv
<G u v 1 11l
D) m 1 v i1
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4. 37 IRIH HAIHU hl T |, TaT8 h a1l Al bl fFfaltad T & o1 hagl A1 g ?
(A)  FTSIeTEt B) e
(C) wromef (D) e

5. TS Shis ¢ 3T Y31 o |1 319 TR 3T AR TS T © a1 39 TshaT bl 9
HEAE ?

(A) T T B) BRET W e
(C) Tagam wgreft (D) I T

6. I § ALY TRMETS ¢ 4 2001 T G4 ¥ T8 G T AT FohaT ?
(A) arferE™ B) HIEEE
(C) IsdfehEd™ (D) 3ITSESTH

7. frafefed senati S HITHHTTER STaferd Hife quT 3T o &9 H T8 foshe e :
() ®EHIHI
() TR W Hife=rd ATsRA
(iii) @iforRra e o foere
Gv) Tt fova gg o1 310

forrea
@A) @, (i), {ii), iv) B) @, (i), Gv), (ii)
(©) @, @ii), Gv), (i) D) @), Gv), (i), (iii)
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4. People who seek better economic opportunities abroad are called 1
(A) Immigrants (B) Migrants

(C) Refugees (D) Non-Residents

5. A process in which the countries share ideas and information with their

rivals is called . 1
(A) Alliance Building (B) Arms control
(C) Confidence Building (D) Balance of Power

6. Which Central Asian Republic witnessed a civil war for ten years till 2001 ? 1
(A) Tajikistan (B) Kazakhstan

(C) Uzbekistan (D) Azerbaijan

7. Arrange the following events in chronological order and choose the correct

option as answer : 1
(1) The Russian Revolution
(i1) The Soviet invasion of Afghanistan

(ii1) The disintegration of Soviet Union

(iv) The end of the World War II

Options :
@A) @, G, (i), (v) B ©, @), @v), (i)
©) @, (1), @v), (1) D) @), Gv), (1), (i)
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8. YA o fohd U | ‘el FHGH 1 FF6¢ § ?

(A) g (B) 3w
(C) 3TRUTTEIS 9 (D) TS

9. 9rd A fr=fafeaa & & frm tufrafyes smem @ svenfimn i i @ & fow s
ST fehu 9 7

A) fafes (B) whTE
(C) et D) ==

10. Frafefaa ye7 § g oo fou o # f5 & w1 stfied (A) 71 g & SR (R)
T 3ifeRe foham T } | 37 AT 1 T @ ufev i e fow e fawedt (A), (B), (C)
HR (D) H H I &4 H Hel foreped g :

arftrRem (A) : first A9Hat the (MNF) 3 Toraarar & fote gerer 1firm v foarm o |
HROT (R) : Sl o 91 {1 URTE &3 Shl 3TEH o 3T=id Ush Lo FTeTl STt T T |
forepea -

(A) IR (A) 3R HRUT (R) SFT Tt § 3T R (R) 31firened (A) 1 &l smet
21

B) IfHUA (A) 3R FHRU (R) AT & & 3T HR0T (R) 31fireped (A) 1 &l e
LR

(C) R (A) Tl & STHROT (R) TeAd ¢ |

(D) 3firere (A) Tord 2 TR R0 (R) Tl 2 |

11. =3 form o foesa ot sheatt ot foram e 2

(A) 1950 B) 1954

(C) 1960 D) 1962
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8. ‘Karbis’ community belongs to which State of India ? 1
(A) Manipur (B) Assam
(C) Arunachal Pradesh (D) Nagaland

9. India made earnest effort for the early realisation of freedom of Indonesia

from the colonial regime of the . 1
(A) British (B) French
(C) Portugese (D) Dutch

10. In the following question, Statement of Assertion (A) is followed by a

Statement of Reason (R). Choose the appropriate option as the answer. 1

Assertion (A) : The Mizo National Front (MNF) started an armed

campaign for independence.

Reason (R) : After independence the Mizo Hill area was made an

autonomous district within Assam.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct explanation of
A).

(C) (A) is correct and (R) is incorrect.

(D) (A) is incorrect and (R) is correct.

11. In which year did China annex Tibet ? 1
(A) 1950 B) 1954
(C) 1960 D) 1962
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12.

13.

14.

15.

16.

17.

18.

A o1 YW J& TS 3T hH AT 7 1

(A) TH.TA. A (B) gHUR TH
(C) . %. gem (D) 3. Frd

Uz -T 6x2=12
AT % THT WA & G0 fehTd & & @ < dfset o 7 37 1 ferfiaa | 2
“ TR e FRET o foTT Teh T @al 7 |7 A 1 i i | 2

ueff urferear o i = foper shror wfvedt urferea & wyea o1 foie fopam 2 wuhifse | 2

I fieh GLETT o Weh Heeh o &9 H “ITTth Tqei ! SATEAT iU | 2

Graifier oa%eh HATiRIenT o TIIT sl WA o foTU o= Shifgd 0 37R @atTeh el T ?
Wy HIST | 2

IRd H 1989 | T34 =l TTHRI o 7 o TR B % T&T HRUT b1 IAT HIFT | 2
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12. The first Chief Election Commissioner of India was ) 1

(A) S.L. Shakdhar (B) Sukumar Sen
(C) K.V.K. Sundaram (D) R.K. Trivedi
SECTION - B 6x2=12

13. Name the two models of development before India on the eve of

independence. 2

14. “Terrorism is a new threat to security.” Support the statement. 2

15. Why did the people of East Pakistan resent the domination of West

Pakistan ? Explain the reason. 2

16. Explain ‘Balance of Power’ as a component of traditional security. 2

17. Why was India’s experiment with universal adult franchise described as

“bold and risky” ? Explain. 2

18. Highlight the main reason for the begining of the ‘Era of Coalitions’ in
India in 1989. 2

2159/4/3 11 P.T.O.



Qug -1 5% 4=20

19. “I&% TR Thdl o G&T TR & |” HUA B =ATIETT 380 | 4

20. Hiferra g o faee o foregi a1 sron bl smen hifs | 4

21. (a) 1975 YRA H TAIIT T AT & HRG TT feopgl & U131 (Feehi) 1 IR

HINT | 4
Jtera
(b) 1975 H 9YRA T T T JTITdhTA o Teheal TR TROTHT b1 ISR SHIT | 4
22. (a) TRt o foReal QI ST TTOTHI shi SATEAT HITT | 4
Jera
(b)  eleRTT o fepgll Q1 Trotifereh TROTTHT <hl ST SHifT | 4

23. “Uo" Ul W AR i a1t FT ATt o 1 fage qem 39 TEid & gl o
YTHETT o1 T iU | 1+3=4
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SECTION - C 5%x4=20

19. “Nehru was an ardent advocate of Asian Unity.” Justify the statement. 4

20. Explain any two causes of the disintegration of the Soviet Union. 4

21. (a) Highlight any two lessons learnt from the imposition of Emergency in

India in 1975. 4
OR

(b) Highlight any four consequences of the imposition of Emergency in

India in 1975. 4

22. (a) Explain any two economic consequences of globalisation. 4
OR

(b) Explain any two political consequences of globalisation. 4

23. Name the leaders who signed the Punjab Accord and explain any two

provisions of this accord. 4

2159/4/3 13 P.T.O.



Qs —-¥ 3x4=12

24. Fr feu MU st 1 e 1 ufed 3tk frefafaa weat & s fafgu -
Sfges TeHIfd o 3F=wid, TATeReiE gea W 31k €I ¢ Sl Uishar 3 sIsfiet &

e 2 Sl # g3 TgHd < TaieR 3R faeh W qg¢ W ki U e H 319 ®9

fora | seen! gedt-Riret s e off a1 T | 4x1=4
()  gee-TereR awrer fore ad gam o ¢

(A4) 1990 B) 1991

(©) 1992 D) 1993

(i) Freferiaa o & fopa o 1 e TiSiehicl 1 STeranat & ge & e ot ¢
(&)  HIE T TG
(B) FEes fobrem
(C) wH
D) -

(i) Fr=fafea @@ = o fames T e - T =1 afom 7=t ot ?
A) wig-21
(B) wad amoi foemtd
(C) el wiwg 3trer-3ter et
(D) T TeThict

(iv) T < s & Aed # fferfaa o 9 fopmes S TS T § g @ien mam o ?
(A) ITEATUEH HETETR
(B) Y=~ HEET
(C) 3Tl
(D) ITRREH HETHTR
2159/4/3 14



SECTION -D 3x4=12

24. Read the passage given below carefully and answer the questions that

follow :

The growing focus on environmental issues within the arena of
global politics was firmly consolidated at United Nations Conference on
Environment and Development held in Rio de Janeiro of Brazil. This was
also called the Earth Summit. 4x1=4

(1) In which year was the Earth Summit held ?
(4) 1990 B) 1991
(C) 1992 D) 1993

(i1) Which one of the following countries was exempted from the
requirements of the Kyoto Protocol ?

A) USA

(B) United Kingdom
(C) France

(D) China

(i11) Which one of the following was not an outcome of the Rio Summit ?
(A) Agenda-21
(B) Sustainable Development
(C) Common but differentiated responsibilities

(D) Kyoto Protocol

(1v) The Ozone hole was discovered in the mid 80’s over the
(A) Atlantic Ocean
(B) Pacific Ocean
(C) Antarctic
(D) Arctic Ocean
2159/4/3 15 P.T.O.



25. WA o feu v Teifaes [ar-amtas 3 =R TS 6 (A), (B), (C) 3R (D) & g 3ifhd
foran e B | e @ E IR 6 YR W 3T TSl I IEE ShifTe 3R U 33-
et H $oh Tel A, SN <1 TS SR Shi e &A1 a1 Wt § fearm mn wefia
F1er, <fr < 118 afereht & w9 1 feafa 4x1=4

TR T ARRI | AR dfem | sawmam

(@)

(i1)
(iii)
(iv)
() T8 Ty R S| & qd TeeT . IS DT TE-E o |

(i) I8 TS TGN Y I TH, T A’ HgTad T S+ 3T |
(i) % TS SEE & TUTHHT AT SETGL ITet 31 Hay o |
(iv) T8 TS &I 1967 o Taerm-ger gATat H S 41t bl SgHd STH T8 g7 o7 |
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25. In the given outline Map of India, four states have been marked as (A),
B), (C) and (D). Identify the States on the basis of the information given

below and write their correct names in the answer book alongwith the

respective serial numbers of the information used and the concerned

alphabet as per the format that follows :

@)
(i1)
(iii)

@iv)

2159/4/3

Sr. No. of the Alphabet Name of
information used concerned the State
¢))
(i1)
(iii)
@iv)

4x1=4

The State to which the former Congress President K. Kamraj belonged.

The State from where the phrase ‘Aya Ram, Gaya Ram’ originated.

The State to which former Prime Minister Lal Bahadur Shastri

belonged.

The State where the Congress Party did not get majority in 1967

assembly elections.

17
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e : Frafafea y wae gfvafem wdenfi=t & fom, w97 v 25 Fm wE | 4x1=4

(25.1) 39 UST 1 AW fAfau F&T 1967 o faum-aw g1 § HE" u1df ! 9gHd
HTH &1 g1 AT |

(25.2) 39 USA 1 AW fARge e g6l gameE e SeTg A geta 9 |

(25.3) Fore TSI | ‘3T W, TR U ST ST ST 5T AT 7

(25.4)  TohE TSI T Y % T 3181 . HIHUS HT TEE- AT ?

26. = feu mu iRt @ wEfa #iga &1 sremEa Fifve 3R frafafea e % 3w
et 1+1+2=4

I f

r - LI | ¥ ]
(i) e femman - ‘ama’ fore wye w1 wfaffra s g

(i) 1A | femman man 3% forw wgem w1 wfaffra s g ¢
(iii) TSTYE ZRI A S % s o H1 3238 & 7 T8 HITT |
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Note: The following questions are only for the Visually Impaired

Candidates in lieu of question number 25. 4x1=4

(25.1) Name the State where the Congress Party did not get majority
in the 1967 assembly elections.

(25.2) Name the State to which the former Prime Minister Lal
Bahadur Shastri belonged.

(25.3) The phrase ‘Aya Ram, Gaya Ram’ originated from which State ?

(25.4) The former Congress President K. Kamraj belonged to which State ?

26. Study the cartoon given below related to Sri Lanka and answer the

questions that follow : 1+1+2=4

=T LN S

(1) Which community does the tiger shown in the cartoon represent ?
(i1) Which community does the Lion shown in the cartoon represent ?

(ii1) What did the balancing act by Rajpakshe aim at ? Explain.

2159/4/3 19 P.T.O.



e : FmafaRen we o givafea uhenfai=t 3 fore, wom o 26 S M wE |

4x1=4

(26.1)  ficiepT & o TH@ HYEET & A fafEw |
(26.2)  forg 1 forega = fafem |
(26.3)  sficient fopet o Taraa g o 7

(26.4)  HF T W I AR & AT Toy ¥ gemy 6 gt i o 3He am
fafau |

waug - 4x6=24

27. (a) EIH Y GLAT IIE o TS AT 38 Teh HiTeh - b feTu yeamfard e w1
Ui HIfTT | 6

YT

(b) 3ftd Ig 1 TuTt % a1g v Terifa § 3o el = afterdi 61 o Hifse |

=2

28. (a) JUN Ta i fava 1 Tk qaTERICt SR e S aTer foheel TR el
forgetwor Hifsw | 6

YA

(b) & ETSHT 1 TATIUA LA o Tehe | =R IeAT o1 Forgeion HIfT | 6
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Note: The following questions are only for the Visually Impaired

Candidates in lieu of question number 26. 4x1=4

(26.1) Name the main communities of Sri Lanka.
(26.2) Write the correct expansion of LTTE.
(26.3) In which year did Sri Lanka get independence ?

(26.4) Name the country which mediated in the Ethnic conflict ?
Sri Lanka.

SECTION - E 4%x6=24

27. (a) Describe the composition of the United Nations Security Council and

the suggested reforms to make it more relevant. 6
OR

(b) Describe any four changes that occurred in world politics after the

end of Cold War. 6

28. (a) Analyse any four factors that make the European Union an

influential regional organisation of the world. 6
OR

(b) Analyse any four objectives of establishing the regional

organisations. 6

2159/4/3 21 P.T.O.



29. (a)

(b)

30. (a)

(b)

2159/4/3

TIAAAT o UTETA WA H TS ob YIS ! TTshAT T U HITTT |

HAYA

<t famedi & wia ge 1 foer | € foheal i auenati o1 9uiH ST |

T <1 STfershir Teififesh Tiféan o sfter 3w wrgufa o fopedl i maweryl geai Y
SITEAT <hHIFT |

AU

1989 o ¥T¢ WA H o1 T3a=4 shl GThT o fepgl i w1 <h) samean Shifyu |

22
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29. (a)

(b)

30. (a)

(b)

2159/4/3

Describe the process of reorganisation of States in India after

independence.
OR

Describe any three problems faced by India to get the merger of

princely states into the India Union.

Explain any three important issues on which a consensus has

emerged among most political parties of India.
OR

Explain any three benefits of the coalition governments formed in

India since 1989.

23
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